Topic A08: Cost-Volume-Profit Analysis                         Student Worksheet Answer P.1

BAFS Elective Part – Accounting Module – Cost Accounting
Topic A08: Cost-Volume-Profit Analysis
Activity 1 – Case Study 1
	Q1)
		
	Contribution margin per unit

	=

=

	Unit selling price – Unit variable costs
$10 - $6 = $4

	Q2)

	Fixed Cost per month

		
			$

	Rent

		10,000


	Wages ($8,000 x 2)

		16,000


	Operating expenses

			 4,000

			30,000



	Q3)

	[image: image1.png]Fixed Costs
Break-even point (in units) =

Contribution per unit




[image: image2.png]30,000
Break-even point (in units) =

=7,500 units





	Q4) 
	
	

	Margin of safety
	
	

	Margin of safety (in units)
	=
	Sales volume – breakeven volume

	
	=
	10,000  – 7,500 

	
	=
	2,500 units

	Margin of safety (in %)
	=
	2,500  / 10,000 x 100%

	
	=
	25%

	Margin of safety is the amount of sales that can be reduced before loss. The company has a margin of safety of 25%, which means the business will incur a loss if the sales volume is decreased by 25% or more. 


Activity 2 – Case Study 2
(a)
	

	According to the standard sales mix of 2:1 for tops and bottoms, sales revenue for each bundle of sales is

$150 [image: image4.png]


 2 + $200 [image: image6.png]


 1 = $500 per bundle

Total number of bundles that are required to be sold to earn sales of $20,000,000 is

$20,000,000 / $500 = 40,000 bundles

Target sales quantity of tops: 40,000 [image: image8.png]


 2 = 80,000 units

Target sales quantity of bottoms: 40,000 [image: image10.png]


 1 = 40,000 units 


(b)

	

	 Total fixed cost

= $2,600,000 + $2,000,000 = $4,600,000

Unit contribution margin of tops

= $150 - $30 - $20 - $10 - $15 = $75 per unit

Unit contribution margin of bottoms

= $200 - $35 - $30 - $20 - $15 = $100 per unit

Contribution margin for each bundle of sales

= $75 [image: image12.png]


 2 + $100 = $250 per bundle

Breakeven bundles

= $4,600,000 / $250 = 18,400 bundles

Breakeven sales quantity of tops

= 18,400 [image: image14.png]


 2 = 36,800 units

Breakeven sales quantity of bottoms

= 18,400 [image: image16.png]


 1 = 18,400 units


(c)

	

	Total fixed cost

= $4,600,000 + $1,700,000 = $6,300,000

Unit contribution margin of tops

= $150 - ($30 + $20 + $10 + $15) [image: image18.png]


 (1 - 20%) = $90 per unit

Unit contribution margin of bottoms

= $200 - ($35 + $30 + $20 + $15) [image: image20.png]


 (1 - 20%) = $120 per unit

Contribution margin for each bundle of sales

= $90 [image: image22.png]


 2 + $120 = $300 per bundle

Breakeven bundles

= $6,300,000 / $300 = 21,000 bundles

Breakeven sales quantity of tops

= 21,000 [image: image24.png]


 2 = 42,000 units

Breakeven sales quantity of bottoms

= 21,000 [image: image26.png]


 1 = 21,000 units

Without Advertisement 

With Advertisement

$

$

Sales revenue

20,000,000

21,000,000 

(W1)

Less: Variable cost

10,000,000 

(W2)

8,400,000 

(W3)

Fixed cost

4,600,000

6,300,000

Net profit

5,400,000

6,300,000

(W1) Sales revenue with advertisement

       = $20,000,000 [image: image28.png]


 (1 + 5%) = $21,000,000

(W2) Total variable cost without advertisement

      = ($30 + $20 + $10 + $15) [image: image30.png]


 80,000 + ($35 + $30 + $20 + $15) [image: image32.png]


 40,000

      = $75 [image: image34.png]


 80,000 + $100 [image: image36.png]


 40,000

      = $10,000,000

(W3) Total variable cost with advertisement

      = $75 [image: image38.png]


 (1-20%) [image: image40.png]


 80,000 [image: image42.png]


 (1+5%) + $100 [image: image44.png]


 (1-20%) [image: image46.png]


 40,000 [image: image48.png]


 (1+5%)

      = $60 [image: image50.png]


 84,000 + $80 [image: image52.png]


 42,000

      = $5,040,000 + $3,360,000

      = $8,400,000

Therefore, Plan 1 should be adopted as net profit will increase by $900,000.


(d)

	

	Total fixed cost

= $4,600,000 + $2,195,000 = $6,795,000

Budgeted sales quantity of bottoms

= 30,000 / 2 = 15,000 units

Contribution margin of tops and bottoms

= $75 [image: image54.png]


 30,000 + $100 [image: image56.png]


 15,000 = $3,750,000 

Breakeven sales quantity of shoes

[image: image57.png]6,795,000 — 3,750,000
300 — 150

=20,300 pairs
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